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(5a—b) (4a+2b)

(x—4) x+7)
(x—2) (x—6)
(4a+1) (4a—3)
(x—8)%
(5a+2b)?

(x=5) (++5)

(3x —2y) (2y+3x)

(a—1) (a+3) — (a—2)*
(x+5) (x—2) + (x+3)?
(x—5) (x+5) — (x+1) (x+3)
(x+5)2— (x+3) (x—2)
(2a+3)*—(2a—1)*

83X 77

(6] (x—[7 D (xt+2)=x2-5Bx—[ A Do, &, [7 ], [ £ NTil§ 5 8H%RD L,
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(1)
(4)

(1)

ROE A FZHRBUZ 5 Ko

23 (2) o4
KON % NETH - Lo

mx —5m (2) ax—2ax*
x2—4x+3 (5) x*—3x—10
x°+8x+16 (8) 4x’—4x+1
a’—16 1) 4x*—y*
RO % WA HE X,

3x?—12x+12 (2) 4x*—16x+16
x(x+7)—18 (5) x2—2(x+4)

{5IH LT, ROEIHEZE L.

(3)

62X91+38X91 (2) 542—462
:ka)%rlnﬂl(‘i:?—;%_cto
aZ%, b=—%0)}_‘ X, (a—b)— (@+b) Dtk KD L.

(2) x+y=4, xy=—3DL X, x*+y*—3xyDfH%E KD X,

12)

Akl X

[ﬁ] FAOKIE, EEIM2acm, 2bcm, 2(a+b)ecm® 3 DD H 2 A
HFLETOL>72HETH L, Hr2 - olm%xa, bx /v

7oATRE, 220, MAFZ 45,

182 ZERK

105

21lxy— 14x°—35bx
x*+8x+12
x*—6x+9
25x2—9y?

3x2—12y°
ala—2) —(a@a—2)

QE=T?=84+7D X HIZ, M35 2 2DEHDOT-HOFEIE, T2 O00FEHOANIEFLWIE

T~ 2gem~ > 2bem”
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